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Real Champs-

Surbhi Sinha 1 day ago
Dhamakedar supper DI QUESTION SIR ,, HAMARA FAVOURITE TOPIC HO GYA ,0R QUESTION SOLVE BHI HO RAHA H THANKS
SIR ., HAMARE DI IMPROVE KARNE K LIYE

DEBASHREE DAN 1 day ago

Nice session = DI phahala sa bohot jada imporve hua ...... Thanks you sir! _ o
V ery nice and awesome session sir than |<'.3'[1 U

harsh sharma 1 day ago

Amazing sessions sir,.
051 CJ Reply

w 1reply

Aalap 1 day ago " Niharika Jha 1 day ago
Nice questions .. A Superb questions sir.. &

D
052 CH  Reply

» 1reply

abhay singh 1 day ago
It was hilarious session sir thank you so much & & & &

g5 1 CH  Reply

w 1reply

= E|:;l:::l
Amazing session sir 2=

Mitu Maurya 1 day ago

DI ke questions krne me bhot kuch sikhne ko mila sir .... thanku so much







Speed of a boat in still water is 90 km/h. A man started rowing the boat in the river =}
against the direction of stream. He saw another man drowning ahead of 200 m from
him and flowing with the speed of stream. Calculate the time taken to man reach to

the drowning men to help him ?

R ST & T arg &Y afa 90 fhafl/ger §. Th e aAdT H aATd Pl URT v f&am &
[T AT 9T 38 Th 37g <hfh &l 3HA 200 Hel AW Zad IR 9RT Fr a1fd § agd
U QWM HJST Bl Fad U o9l deh Ugdel A ofdled dlel HHY & IUTAT HITSTT clich SHeh
Jerddr &6 ST Heh?

6 sec
12 sec
3 sec
10 sec
CND

Al



A person received 2700rs as simple interest after 2 years at the rate of 37.5% per
annum on a sum X and 4800rs as simple interest after 3 years at the rate of 25% on

a sum Y. Find the ratio of both the sum X and Y ?

Uch cgfth Pl 2 Nl &b dIg Teh XA U 37.5% UTd IV hr g7 & 2700 IUY JIYURUT AT &
&0 A 3T 3 aul & d¢ 4800 U HIYROT <ATel & ® H YR W 25% & &7 & uid gl

X 3R YS! &1 3equrd <1d Hhiferd?

Al

19 : 16
90:16
16:9
9:16
NOT



M sold pen at a gain of 10%. He spent his total sale proceeds to purchase such pen
again. This time, while selling them, he incurred a loss of 10%. His loss or gain in

the transaction was ?

M 10% & gig T U JdT| 3epidd 30 die & U A B @ Tl & o 31Ut gef fashn
3T @A F| 30 R, 3o¢ dId FHI, 3§ 10% BT JHAT §3T| oAA-GT H 3HPI JhdT AT
SITH T AT?

1% loss
10% loss
1% profit
10% profit
NOT

Al



A 500 m long train crosses a man moving in same direction with a speed of 8 km/hr
in 40 sec. Now a motorcycle is moving towards it from opposite direction it took 20
sec for the bike to cross the train. Calculate the speed of bike (km/hr) ?

Th 500 HreX odl ¢ AT Tem & 8 fepadi/ger &r a1fd & I & T <Ifh &l 40 Hhg A
UR &dl &. 37 Ueh ACI@Sihel faudia Gm @ 39T 3R a6 & & 3R d15a & ¢ uR
S H 20 bs 010 &1 I A afa (Feehr/ger) & aorar Hifad?

37
40
50
25
NOT

Al



9.95% of 2549.89 + (1/3) of 1511.86 - 11520.73 = 2

1.700
2.690
3.670
4.720
5.650




(24.01)* + (9.01)° + (2.96)*%° - (11.02)* = 2% - 30.89

1.28
2.31
3.36
4.41
5.43




33.33% of 48 + 12.5% 01 96 x ? % of 70 = 3376

1.75
2.62
3.400
4.185
5.390




23.76 + (11.95)%% (36.05)* =

(18)* =

(7)) x 59.57

1.100
2. 121
3. 105
4. 136
5. 144




853.9 - 420.009 - 346.38 = ? - 322.46 + 20.32

1.-392
2. 390
3. 395
4. 400
5. 410




3
12.5% of \/4096 +79.98% ot 1360 =? % of 3300 + 1

1.22
2.36
3.28
4.26
5.33




5040, 720,

120, 24,

8,

2

1.8
2.3
3.720
4.120
5.24




18, 269 359 999

124, 440, 389

1. 389
2.440
3.124
4.99
5. 18




20, 33,

50, 69, 92,

100

1.196
2.121
3.169
4.100
5.112




14,

20, 26,

53,

134,

377,

1106

1.14
2.377
3.1106
4.20
5.26




147,

110, 92,

72,

S7,

47,

42

1.147
2.110
3.42
4.57
5.92




The weights of two friends P and V are in a ratio of 1 : 2. P’s weight increases by
20% and the total weight of P and V together with an increase of 30% becomes 60
kg. By what percent the weight of V increase?

al AT P3IR vV HIX T 37UTd 1: 2 &1 PRI a3l 20% d¢ SIdl & 3R P 3R VAN Hol
asled 30% &1 gig & ATY 60 Tham & T &1 Vb aoid HA fhda gfavrad &l gig &idr &2

30%
35%
40%
25%
45%

Al



Monthly savings of A is 6000rs more than that of B. Monthly salaries of A and B are
in the ratio 16 : 11. Find the average monthly salary of both of them together, if the
monthly expenditure of A is 4/3" than the expenditure of B and A saves 12000rs in a
month?

AT ATRID T BT Jeldl H 6000 TUY 3HTUh &l AJR B HATD el Pl Ul 16
11 &l I AT ATAR <TT Bh <TT AT 4/3 § 3 ATH AGS A 12000 TUF dATAT &, al
a1 g ATf¥e aaa A1d Hrierd?

Rs. 39000
Rs. 39500
Rs. 40000
Rs. 40500
Rs. 40000

Al



D takes S days to read a book. She read % part of the book on first day, 20% on the g}
second day and remaining in the next three days. She reads equal number of pages

in the last three days. If she reads 66 pages on the third day, how many pages did

the book contain?

D &l Tch Y& e # 5 fo oord €1 3da Ueol f&cT Q& ol 1/4 9197 Ugl, g e 20%
3R 39Tl i et # Qqu| g o 9 el & o e # g8 ged &1 Ifq a8 |
f&cT 66 U8 Uedl &, a Q&de A fhda g8 &2

120
180
240
320
360

Al



Directions: The Pie chart gives the proportion of the population in 5 different villages @
having a total population of 78,000. The table gives the ratio of literate and Illiterate

population in five villages.

féer: g =mE 78,000 Eﬁr}g{ HIETET dTel 5 37eTaT-37e19T IMal A SIAHEIT DT HJUTd &l &l
JrferehT U aal & e HT&R 3MEIET Al 3aTd ol ol

Village literate : illiterate
A 11: 9
B 5:3
C 7:8
D 1:5
E 2:3




What percentage of population in Village C is illiterate?

T C o foRa ufasra swaeaT frer 22

Total = 78,000

Village literate : illiterate 1. 12.24%
A . 2. 15.76%
B 5:3
c g 3. 66.66%
" e 4. 21.92%
- >3 5. NOT




Number of illiterate population in village E is how much more/less than the number
of literate population in Village A?

T E § e et <t ST, T A W aTer STTaTd! shi @6t | feha=T 1feren/ay 22

Total = 78,000

Village literate : illiterate
A 11: 9
B 5:3 1. 2067, More
C 7.8 2. 2556, More
3. 546, Less
D 1:5 4. 3672, More
E 2:3 5. NOT




What is the sum of all Illiterate population in all five villages together?

Tt e e 7 gt AT STraTdt st It T 22

Total = 78,000

Village literate : illiterate
A 11: 9
B 5:3
C 7:8
D 1:5
E 2:3

UR W N e

42003

. 43560

43111
43563

. NOT



What is the number of literate population from village C?

T C O {TeR ATATET ohi TEAT 34T 22

Total = 78,000

Village literate : illiterate 1 4592
A 11: 9
" c 3 2. 4876
; - 3. 5460
5 1o 4. 8752
E 2:3 5. NOT




What is the ratio of the literate population of village A to D?
TS A SR D T HT8R THEEAT T ST FIT 82

Total = 78,000

Village literate : illiterate 195:413
;\ 151:39 . 289:191
° - . 2719:280
X . . 410:197
: e . NOT




Three men A, B and C start a business together, they invest 24,000rs, 30,000rs and
36,000rs respectively in the beginning. After 6 months B took out 5000rs and after 4
months C took out 6000rs then they get a profit of 10020rs at the end of the year.

What is B's share in the profit?

dieT <afth A, B3R CTH HIY Ueh gl & A &, d YT H HAA: 24,000 ¥4I,
30,000 TTY 3 36,000 TUA &I AU BId &1 6 HAeld & dI¢ B 5000 TUY Aol 3R 4
AL dI¢ Ca 6000 TUY AP, dl 3¢ I¥ o 370 H 10020 FUY AT oITH UTH &IaT &1 T

# BT fo&ar #ar 2

Rs. 3840
Rs. 2880
Rs. 3300
Rs. 4000




A drives his car at an average speed of 45 km/hr and reaches his destination in 8
hours. V also completes the same distance in total 5 hours. If A and V increase the

speed by 5 km/hr and 3 km/hr respectively then what will be the difference in time

taken by them to reach the destination ?

A 3Tl B BT 45 Thall/ger &1 A a1fd @ Tardr § 3R 8 8¢ F 3ux Idcy deh ugd
%.vsﬁma]gg?wﬁ%ﬁwm%laﬁmﬂ?vaﬂwz51%|wf|‘r/zi€r3ﬂi3
fepaT /ger T eld &, aF Idcy dd Ugdd H 3Ad gRT foIT 37T FTF &T AR AT Bhom?

2 hours 40 minutes
2 hours 30 minutes
2 hours 24 minutes
2 hours 20 minutes
2 hours 48 minutes

Lk wh e



Two pipes can fill a tank in 20 hours and 60 hours respectively. A third pipe is an

outlet pipe. If all three are opened together, the tank gets filled up in 40 hours. What

time will the outlet pipe take to empty the full tank?

gl UTsU Teh bl ol hdAM: 20 8¢ 3R 60 ¢ F IR hd &l Tdh G UST TH 3o
ursy g1 If¢ il &F T A1Y Wil ST &, dl ¢ 40 9¢ H #HT AT g1 HT3¢alc Ursy &l

quT &b Pl Wil A H fhddl AT S99Mm?

Al

30
28
20
24
18

NOurs
NOurs
NOurs
NOurs

NOurs



In a mixture, the ratio of milk and water is 5 ¢ 4. If 20 liters of mixture is taken out PN
and 10 liters of water is added to the mixture, such that the ratio of milk and water

becomes 5 ¢ 6. What is the initial concentration of the mixture at the beginning?

U fHHOT H, gU 3N Ul &1 U 5 : 4 1 FE 20 e fHAHOT e Srar & 3R
6 B SIdl &1 URST #H

fAsor & 10 ofieT urell fAemar Sirar &, df gy 3R Uil &1 3eurd 5

frsror A1 gRTAS gigdr =T &2

Al

45
54
65
/8
74

iters
iters
iters
iters
iters



The ages of A and B are in the ratio 2 : 3, While that of B and C, are in the ratio 4 :
7 and that of C and D are in the ratio 3 : 5. If the difference between the ages of A
and C is 10.4 years then find the age of D?

AR BET 3G &1 IUTd 2 : 3 &, Sidfeh B3R ChI Y HI HJUid 4 : 7 & 3 IR DM
%I%;I&@uld3:S%IﬂﬁAﬁTCEﬁm‘ga?Eﬁﬂqﬂ}id{ 10.4 a9 § df D 3 1

?

35 yrs
28 yrs
21 yrs
PARYIES
37 yrs

Al



The ratio of the perimeter of the square and rectangle is 8 : 7. The difference between
the length and breadth of the rectangle is 4 cm. The sum of the side of square and

breadth of the rectangle is 28 cm. Find the length of the rectangle?

I 3R 3T & IRATT &7 AqUT 8: 7 ¢l I Hr a8 3R T & I g &7 37al 4 T
& gif &1 o IR T B Ass BT AT 28 [HT §| AT H dGs AT HfSA?

22 cm
18 cm
16 cm
24 cm
12 cm

Al



